Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T					-		
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH002	5 GANGURDE KRISHKUMAR UMESHCHANDRA 24.00 13.00	3.00 5.67	FF	CC	CD	CC	AA	FF	DD	FF							BACKLOG: 23 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 VADADORIYA KRISHNA JAY	YSUKHBHAI	BB	DD	ВС	CD	AB		AB	ВС							
U21CH003	24.00 24.00	7.71 7.75	ВВ	BB	ВС		AD	AA	AD								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 HARSH DHANKAR									4.5							
U21CH004	24.00 24.00	9.04 9.12	AA	BB	BB	BB	BB	AA	AA	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT		INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH005	5 MAKWANA MOHIT HARISH		АВ	ВС	ВС	ВВ	ВС	AB	AB	AA							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T	-						-
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 BADRAKIA NISHANT HI	TESHBHAI	AB	BB	ВС	CD	BB	BC	AA	ВС							
U21CH006	24.00 24.00	7.46 7.85	, ,,						,,,,	•							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 PRATYAKSH SHARMA		^^	DC.	AD	ВС	DD	A D		AB							
U21CH007	24.00 24.00	8.83 8.81	AA	ВС	AB	ВС	BB	AB	AA	70							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 HIREKHAN SIMRAN DE\	/ENDRA	P.C		DC.		DD		DC.	BB							
U21CH008	24.00 24.00	7.29 7.35	BC	CC	BC	CC	BB	AB	BC	66							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH009	5 MERJA DHRUVIL SHAILI 24.00 24.00	ESHBHAI 8.50 8.64	ВВ	AA	AB	CC	AB	АВ	AA	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2023

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CS363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							<u> </u>
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	COMPUTER GRAPHICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
	5 SHETE KRUSHNA BABAS		AB	СС	СС	CD	ВВ	AA	ВС	вс							
U21CH011	24.00 24.00									CU227 T							
Semester	Student Name	Course Code		CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)								
Semester: 5		8.42 8.76	BB	ВВ	AB	CC	ВВ	AA	ВВ	AA							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
		Credit		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S							
Semester: 5	5 PARMAR PRATIK MUKESI	HBHAI	22	5.0	0.0	0.5	5.0		25								BACKLOG:
U21CH013	24.00 21.00	5.04 6.36	CC	ВС	CC	CD	BC	CC	CD	FF							11 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO	FUELS AND	BIOPROCES							
Number	Credit Credit	SULA CUFA	TRANSFER OPERATION S - II	TRANSFER OPERATION S - II (PRAC.)	ENGINEERI NG THERMODYN AMICS - II	REACTION ENGINEERI		NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	COMBUSTIO N (EIS-I)	S ENGINEERI NG (CE-I)							
Semester: 5	5 SARITA RAMKESH MEEN. 24.00 24.00		ВС	BB	ВС	CC	ВВ	AB	AB	BB							

Date: 29-12-2023

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2023

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
	5 JADAV JALP JIGNESHKU		AB	BB	ВС	СС	BB	AA	BB	BB							
U21CH015 Semester	24.00 24.00 Student Name	8.00 8.47 Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
Semester	Stadent Name	Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF							
Semester : U21CH016	5 ARORA JAHANVI RAJESH		BB	BB	ВС	СС	BB	AB	AB	ВВ							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 JYOTI DEVI VERMA		СС	ВС	00	СС	BB	BB	BB	ВС							
U21CH017	24.00 24.00	6.83 6.75		ВС	CC		DD	BD	DD								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CS363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	COMPUTER GRAPHICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: U21CH018	5 ANCHAL VISHWAKARMA	6.63 7.46	ВС	ВВ	CC	CD	АВ	ВС	ВС	ВС							

Date: 29-12-2023

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 MAKVANA DHAVAL RAKE	ESHBHAI	AA	ΛD	^^	AB	AB	ΛD	^^	AA							
U21CH019	24.00 24.00	9.58 9.48	AA	AB	AA	AD	AD	AB	AA	7.7							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SAUMYA JAIN		AB		AA	ВС	AB	AA	AB	AA							
U21CH021	24.00 24.00	9.17 9.42	AD	AA	AA		Ab	AA	AD	//\							
Semester :	5 JATIN JAIN		ΔD	A D	DD	СС	DD	ΔD	ΔD	AB							
U21CH022	24.00 24.00	8.29 8.63	AB	AB	BB		BB	AB	AB	Ab							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HS310 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FOREIGN LANGUAGE COURSE IN GERMAN (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ASWIN NAIR		BB	AB	BB	СС	AB	AA	AB	AB							
U21CH023	24.00 24.00	8.33 8.51		AD				777	AB	7.5							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH024	5 ANANYA JAIN 24.00 24.00	8.21 8.54	ВВ	ВВ	ВС	ВС	ВС	AA	AA	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 TANDEL MAHARSHI DHA	RMESHKUMAR	DD	DD	4.0	DD	4.0	D.D.	4.0	۸D							
U21CH025	24.00 24.00	8.46 8.19	BB	BB	AB	BB	AB	BB	AB	AB							
Semester : U21CH026	5 SHARMA DEV ASHOKKU 24.00 24.00		AA	AA	AA	ВВ	AA	AA	AA	AA							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 PALLI ROHITH		DD	DD	DD	DD	ΔD	ΔD	DD	AB							
U21CH027	24.00 24.00	8.33 8.54	BB	BB	BB	BB	AB	AB	BB	70							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SINGH JYOTI SURENDRA	1	AA	AA	AA	BB	AA	AA	AA	AA							
U21CH028	24.00 24.00	9.67 9.47	700	700	,,,,			///	701	7.5.							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH029	5 TANISH SANDIPKUMAR I		AB	ВВ	ВВ	ВВ	АВ	AA	AA	AA							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T	-						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 DEVANSH YADAV		AB	BB	AB	BB	BB	AB	AB	ВС							
U21CH030	24.00 24.00	8.50 8.13	,		7.0			,,,,	, , ,								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 KESHAV SOHANI		A.D.	DD	DD	00	4.0	4.0	4.0	AB							
U21CH031	24.00 24.00	8.29 8.59	AB	BB	BB	CC	AB	AB	AB	Ab							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ABHISHEK ANAND									AD							
U21CH032	24.00 24.00	8.21 8.30	BB	AB	AB	BB	BB	BB	BC	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	RENEWABLE ENERGY SOURCES (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH033	5 KESARIA SAHIL SANJAY		AA	ВВ	BB	CC	BB	АВ	BB	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ABHISHEK CHARAN		AD	4.0	DD.	DO	DD.	A.D.	4.0	A D							
U21CH034	24.00 24.00	8.46 8.85	AB	AB	BB	BC	BB	AB	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE369 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY & ENVIRONME NT (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GOVIND PASWAN			00	DD	00	DD		DD.	FF							BACKLOG:
U21CH035	24.00 13.00	2.58 6.05	FF	CC	DD	CC	DD	FF	DD	ГГ							CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 RAJESH RANJAN DASH									4.0							
U21CH036	24.00 24.00	8.79 8.93	AB	AB	BB	BB	BB	AA	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 NAMRATA KUMARI 24.00 24.00	704 719	СС	BB	СС	СС	BB	AB	AB	CC							
	5 NITIN PRAJAPATI		AB	CC	CC	CD	ВС	АВ	ВВ	BB							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 DIKSHANT GAUR		BB	СС	СС	СС	BB	BB	BC	СС							
U21CH039	24.00 24.00	6.88 7.37															
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MECHATRON ICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GAIKWAD YASHRAJ SHAS	SHIKANT															BACKLOG:
U21CH040	24.00 18.00	4.17 6.25	CC	BB	DD	CC	BB	CD	FF	FF							6 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SONI RANJANA		_														
U21CH041	24.00 24.00	8.04 8.14	ВС	BB	BB	BC	AA	AB	AB	BB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	PLASTIC AND CERAMICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH042	5 PATEL PRIANSH SANJAYK 24.00 24.00		ВВ	AB	ВС	СС	AB	BB	AB	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T	-						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF							
Semester :	5 DARSHAK SARADAVA		СС	BB	СС	СС	BB	ВВ	AA	ВВ							
U21CH043		7.25 8.19															
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ANMOL JAIN		AD	DD	DD	00	DD	DO	DD	CC							
U21CH044	24.00 24.00	7.42 7.79	AB	BB	BB	CC	BB	BC	BB								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SNEHA SHARMA									0.0							
U21CH045	24.00 24.00	6.88 7.81	BB	BB	CC	CD	ВС	BB	AB	CD							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT		INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH046	5 RANA AVIRAJSINH SHIVI		AB	AB	BB	CC	BB	AA	AB	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	4 CH305 T	CH307 P	HU301 T	CS363 T	CH327 T	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code Credit															
Admission	Reg- Earn-		4.00	1.00 MASS	4.00	4.00	1.00	4.00 PROFESSIO	3.00	3.00 INTRODUCT							
Number	Credit Credit	SGPA CGPA	MASS TRANSFER	TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION	SEMINAR	NAL	COMPUTER GRAPHICS	ION OF							
1.55.11.2.5			OPERATION	OPERATION	NG	ENGINEERI		ETHICS,	(EIS-I)	ELECTROCH							
			S - II	S - II	THERMODYN	NG - II		ECONOMIC		EMISTRY							
				(PRAC.)	AMICS - II			S AND		(CE-I)							
								BUSINESS MANAGEME									
								NT									
Semester :	5 SHUBHAM NITIN AMTE		BB	A D	DO.	CD	DD	A D	DD	AB							
U21CH047	24.00 24.00	7.67 8.33	ВВ	AB	BC	CD	BB	AB	BB	AD							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO	FUELS AND	BIOPROCES							
Number	Credit Credit	00.71	TRANSFER	TRANSFER	ENGINEERI	REACTION		NAL	COMBUSTIO								
			OPERATION S - II	OPERATION S - II	NG THERMODYN	ENGINEERI NG - II		ETHICS, ECONOMIC	N (EIS-I)	ENGINEERI NG (CE-I)							
				(PRAC.)	AMICS - II	110 11		S AND		110 (02 1)							
								BUSINESS									
								MANAGEME									
Semester :	5 AKASH KUMAR							NT									
			BC	BC	BC	CD	BC	BC	BB	CD							
U21CH048		6.54 7.14															
Semester :	5 MANSIMAR SINGH		СС	ВС	СС	CD	ВС	BB	BB	CD							
U21CH049	24.00 24.00	6.38 7.17															
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO	FUELS AND	INTRODUCT							
Number	Credit Credit	56171	TRANSFER	TRANSFER	ENGINEERI	REACTION		NAL	COMBUSTIO	ION OF							
			OPERATION S - II	OPERATION S - II	NG THERMODYN	ENGINEERI NG - II		ETHICS, ECONOMIC	N (EIS-I)	ELECTROCH EMISTRY							
			3-11	(PRAC.)	AMICS - II	110 11		S AND		(CE-I)							
								BUSINESS									
								MANAGEME									
Semester :	5 RATHOD SMITKUMAR JA	GDISHBHAI						NT									
			AA	AB	AB	ВС	AB	BB	AB	AB							
U21CH050			CU201 T	CH301 P	CU202 T	CH305 T	CH307 P	1111201 T	CH367 T	CH321 T							
Semester	Student Name	Course Code	CH301 T		CH303 T			HU301 T									
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION	SEMINAR	PROFESSIO		BIOPROCES S							
Number	Credit Credit		TRANSFER OPERATION	OPERATION	NG	ENGINEERI		NAL ETHICS,	ION TO ENGINEERI								
			S - II	S - II	THERMODYN			ECONOMIC	NG	NG (CE-I)							
				(PRAC.)	AMICS - II			S AND	STATISTICS								
								BUSINESS MANAGEME	(EIS-I)								
								NT									
Semester :	5 ANIKET RAJ					05	- D2	-	- F-0								
U21CH051	24.00 24.00	688 743	BB	ВС	ВС	CD	ВС	BB	BC	CC							
UZ 1CHU51	24.00 24.00	0.00 /.43													<u> </u>		

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T	-						
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT		BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 ABHISHEK VERMA			AB	ВС	ВС	СС	ВС	ВС	BB	CD							
U21CH052	24.00 24.00	7.04	7.15	7.6							3 2							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 KANANI MAHENDRA P	ANKAJBHA	I	DD	D0	00	00	4.0	DD.	D.D.	СС							
U21CH053	24.00 24.00	7.08	7.07	BB	ВС	CC	CC	AB	BB	BB								
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SHYAM AGHERA										DD.							
U21CH054	24.00 24.00	0 8.00	8.22	AB	BB	ВС	CC	AB	AB	AB	BB							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U21CH055	5 TEENA PIDIYAR 24.00 24.00	6.83	7.69	CC	ВВ	CD	ВС	ВВ	ВС	ВВ	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
	5 YUG PRAVINCHANDRA F		ВС	BB	СС	СС	AB	BB	AB	СС							
U21CH056 Semester	24.00 24.00 Student Name	7.08 7.59 Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
00000		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S							
Semester : !	5 VAISHNAV NITIN MOHA		ВС	AB	СС	CD	ВС	AB	BB	CC							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 HARSH RUPESH BOPCH	ΙΕ	DC	DC.	00	66	AD	DD	DD	BB							
U21CH058	24.00 24.00	7.17 7.47	ВС	ВС	CC	CC	AB	BB	BB	סס							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	S ENGINEERI NG (CE-I)							
Semester : !	5 KUNAL KUMAR MALOO 24.00 24.00		ВС	cc	cc	CD	ВС	АВ	ВВ	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T	-						- 1
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF							
Semester: 5	5 ADARSH MISHRA		BB	AB	ВС	CD	BB	AA	AA	ВС							
U21CH060	24.00 24.00	7.83 8.11		AD	ВС		סט	_ ^~	_ ~~								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	RENEWABLE ENERGY SOURCES (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : 5	5 GOHIL RAJDEEPSINH GH	IANSHYAMSINH	_														BACKLOG:
U21CH061	24.00 18.00	4.04 6.05	CD	CD	DD	CD	BB	BC	FF	FF							6 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5	VERMA DIVYANSHKUMAF HEMANTKUMAR 24.00 24.00		AB	ВС	ВС	CD	AB	AA	AB	ВС							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S							
Semester: 5	5 BHASHKAR KUMAR SING		CD	СС	CC	СС	CD	ВВ	ВС	DD							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF							
Semester :	5 SAVANI POOJAN KALPES	SHBHAI	DD.	D0	4.0	00	D.D.			AB							
U21CH065	24.00 24.00	8.50 8.10	BB	BC	AB	CC	BB	AA	AA								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 DOSHI KUSHAL NILESH		AB	BB	AB	BB	BB	AA	AA	BB							
U21CH066	24.00 24.00	8.92 9.10	/\b		Λο			744	744								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 GAMECHI NISTHA		ВС	ВС	СС	CC	BC		BB	BB							
U21CH067	24.00 24.00	7.42 7.49	ВС	BC			ВС	AA	סט								
Semester : U21CH068	5 PATIL DHRUV SHASHIKA 24.00 24.00	ANT 7.75	АВ	ВС	АВ	CC	ВС	AA	ВВ	ВС							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH069	5 DESAI HET MUKESHBHA 24.00 24.00		ВС	DD	CD	CD	ВВ	AB	ВВ	DD							BACKLOG: 4 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

	1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester Student Name Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5 PRAKHAR SRIVASTAVA	ВВ	ВС	BB	CD	AB	BB	BB	CD							
U21CH070 24.00 24.00 7.13 7.72															
Semester Student Name Course Code		CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
Credit		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester: 5 RINKU MEENA	СС	СС	CD	CD	BC	СС	DD	FF							BACKLOG:
U21CH071 24.00 21.00 4.71 5.95			CD	OD	ВС										CREDIT(S)
Semester Student Name Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : 5 LAKSHYA AGRAWAL	ВС	ВС	ВС	CC	CC	ВВ	ВС	ВС							
Semester: 5 JADAV ANILBHAI RAJUBHAI	1														BACKLOG:
U21CH073 24.00 21.00 6.17 6.86	CC	BC	BC	CD	AB	AB	BB	FF							3 CREDIT(S)
Semester: 5 AKHAND PRATAP SINGH YADAV	ВС	ВС	ВВ	СС	ВВ	AB	ВВ	ВС							
U21CH074 24.00 24.00 7.50 7.55 Semester Student Name Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
Credit		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Peg- Farn-	MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO	INTRODUCT	BIOPROCES							
Number Credit Credit SGPA CGPA	TRANSFER OPERATION S - II	TRANSFER OPERATION S - II (PRAC.)	ENGINEERI	REACTION ENGINEERI		NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ION TO ENGINEERI NG STATISTICS (EIS-I)	S							
Semester: 5 KANPARIYA KEVAL JAYSUKHBHAI	СС	ВВ	ВС	СС	AB	ВВ	ВС	СС							
U21CH075 24.00 24.00 6.83 7.26															

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE363 T	CH327 T	-	-					
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENVIRONME NTAL MANAGEME NT (EIS-I)								
Semester :	5 SHIVAM PATHAK		BB	BB	AA	СС	AB	AA	AB	AB							
U21CH077	24.00 24.00	8.63 8.71															
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	RENEWABLE ENERGY SOURCES (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 DEVANG KISHORKUMAR	R BHARGAV	BC	ВС	BC	СС	ВС	AA	BC	ВС							
U21CH078	24.00 24.00	7.33 6.79		ВС				_ ^_		20							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 SATPUTE PRANIT UMAK	ANT		DD	DD	CD	DD	00	DD								BACKLOG:
U21CH079	24.00 17.00	3.67 6.24	FF	BB	DD	CD	BB	CC	DD	FF							CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH080	5 G A SIVASANKAR VARAI		ВС	ВС	CC	СС	АВ	СС	ВВ	FF							BACKLOG: 3 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ANIKET JAISWAL		ВС	СС	ВС	CC	۸D	DD	DC	BB							
U21CH081	24.00 24.00	7.17 7.53	ВС	CC	ВС	CC	AB	BB	BC								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 VAGHELA ROHITKUMAR	DHANABHAI	CD	ВС	СС	СС	ВС	BC	BC	FF							BACKLOG:
U21CH083	24.00 21.00	5.46 6.56	CD	ВС	00		BC	ВС	ВС								CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 JADAFIYA TARANG RAJES	SHKUMAR	BB	ВС	ВС	СС	ВВ	BB	ВС	BB							
U21CH084	24.00 24.00	7.33 7.37	DD	ВС	ВС	00	טט		ВС								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
Admission Number	Reg- Earn- Credit Credit	Credit SGPA CGPA	4.00 MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	4.00 CHEMICAL ENGINEERI NG THERMODYN AMICS - II	4.00 CHEMICAL REACTION ENGINEERI NG - II	1.00 SEMINAR	4.00 PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	3.00 INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	S							
U21CH085	5 ARPIT YADAV 24.00	7.92 8.38	ВВ	ВВ	AB	СС	AB	АВ	ВВ	ВС							
Semester : U21CH086	5 ABHISHEK KUMAR 24.00 24.00 	6.42 7.21	СС	ВС	ВС	CD	ВС	ВВ	СС	CC							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9 10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH327 T	3 10	11	12	13		Remark
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)						
	5 MAYANK RANKAWAT	7.70 7.61	AB	BB	ВС	CD	ВС	AA	BB	ВВ						
U21CH088 Semester: U21CH089	5 ROUTHU GOWRISANKAR		AA	АВ	AA	CC	BB	AB	АВ	АВ						
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)						
Semester : U21CH090	5 NAHAR ISHAN RAJESH 24.00 24.00 	7.33 7.21	cc	AB	СС	СС	ВС	AA	ВВ	ВВ						
	5 YADAV RUPESHKUMAR G	GANESHBHAI	AA	АВ	AA	AA	AA	AA	AA	AA						
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)						
Semester :	5 TEJAVATH VAMSHI		OD	NIA	DD	CD	00			FF						BACKLOG:
U21CH093	24.00 17.00	3.58 5.86	CD	NA	DD	CD	CC	CC	FF							7 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)						
Semester : U21CH094	5 KRISHNA KHANDELWAL		AB	ВВ	AB	CC	АВ	AA	AA	АВ						

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14 Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T	<u>-</u>				-	
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)						
Semester : U21CH095	5 PRASHUM ROY	8.67 8.41	AB	ВВ	ВВ	ВВ	СС	AA	AB	AB						
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)						
Semester : U21CH096	5 YADAV NEHA RAJESH 24.00 24.00	8.79 8.31	AB	ВВ	АВ	BB	ВВ	AA	АВ	BB						
Semester : U21CH097	5 GOLLAPALLI RAVI VARMA		CD	ВВ	СС	CD	ВС	ВС	СС	FF						BACKLOG: 3 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE363 T	CH321 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENVIRONME NTAL MANAGEME NT (EIS-I)	S						
Semester :	5 PRANAY TAYADE		DC.	DD	00	CD	00		DD	CD						
U21CH098	24.00 24.00	6.54 7.20	ВС	BB	CC	CD	CC	BB	BB	שט						
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T						
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	ION OF						
Semester : U21CH099	5 BRINSU BALDHA 24.00 24.00	9.08 8.78	AA	AA	AB	ВВ	AB	AA	ВВ	АВ						

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2023

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 SUMIT		AB	BB	ВС	СС	СС	NA	AB	ВС							BACKLOG:
U21CH100	24.00 20.00	6.25 7.26	Ab	ВВ	ВС			INA	Ab	_ BO							CREDIT(S)
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 BHAWNA GUPTA		55			00				BB							
U21CH101	24.00 24.00	8.04 8.79	BB	BB	BC	CC	BC	AA	AA	DD							
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II		CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 NAMAN TIWARI					_											BACKLOG:
U21CH102	24.00 21.00	5.46 6.77	BC	BB	CD	CD	DD	AB	CD	FF							3 CREDIT(S)
Semester	Student Name	Course Co	<i>de</i> CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Cre		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR		FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH103	5 KAMAL UPRETI 24.00 20.00	5.92 7.32	ВВ	BB	ВС	CC	ВВ	NA	AB	CD							BACKLOG: 4 CREDIT(S)

Date: 29-12-2023

The actual mark statement with the Academic / Examination section shall be final & binding to all
Page 21 of 25

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T	-	-					
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 PATEL TISHAKUMARI N	1AHENDRABHAI	AB	AB	AA	СС	AB	BB	AA	AB							
U21CH104	24.00 24.00	8.63 8.48	,	, (5	, , , ,		, (0		, , , ,								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SARDHARA DARSHIL K	(HODIDAS								DD.							BACKLOG:
U21CH105	24.00 20.00	6.75 8.25	AA	AB	AB	CC	BB	NA	BC	BB							4 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 MUKESH KUMAR		60	BC.	00	CD	00		CD	DD							
U21CH106	24.00 24.00	5.67 6.53	CC	BC	CC	CD	CC	BC	CD	טט							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ASTRONOMY AND	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH107	5 AAYUSHI GARG 24.00 24.00	7.79 8.12	ВВ	BB	BB	CC	AA	AB	ВС	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

Admission Number Semester: 5 PF	Credit Credit PRISHA ANAND 24.00 24.00 Student Name	Course Code Credit SGPA CGPA 6.63 6.47 Course Code Credit SGPA CGPA	CH301 T 4.00 MASS TRANSFER OPERATION S - II BC CH301 T 4.00	2 CH301 P 1.00 MASS TRANSFER OPERATION S - II (PRAC.) BB CH301 P	3 CH303 T 4.00 CHEMICAL ENGINEERI NG THERMODYN AMICS - II	4 CH305 T 4.00 CHEMICAL REACTION ENGINEERI NG - II	5 CH307 P 1.00 SEMINAR	6 HU301 T 4.00 PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ATION SAFETY & ENVIRONME NT (EIS-I)	8 CH321 T 3.00 BIOPROCES S ENGINEERI NG (CE-I)	9	10	11	12	13	14	Remark
Number Semester: 5 PF U21CH108	Credit Credit PRISHA ANAND 24.00 24.00 Student Name Reg- Earn-	SGPA CGPA 6.63 6.47 Course Code Credit	MASS TRANSFER OPERATION S - II BC CH301 T	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY & ENVIRONME NT (EIS-I)	BIOPROCES S ENGINEERI							
Number Semester: 5 PF U21CH108	Credit Credit PRISHA ANAND 24.00 24.00 Student Name Reg- Earn-	6.63 6.47 Course Code Credit	TRANSFER OPERATION S - II BC CH301 T	TRANSFER OPERATION S - II (PRAC.)	ENGINEERI NG THERMODYN AMICS - II	REACTION ENGINEERI NG - II		NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ATION SAFETY & ENVIRONME NT (EIS-I)	S ENGINEERI							
U21CH108	24.00 24.00 Student Name	Course Code Credit	CH301 T			CD	AB	۸۸							I		
	Student Name Reg- Earn-	Course Code Credit		CH301 P				AA	DD	CC							
Semester S	Reg- Earn-	Credit		CH301 P													
	_		4.00	l	CH303 T	CH305 T	CH307 P	HU301 T	EE361 T	CH321 T							
A .1	_	SGPA CGPA		1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number		SGFA CGFA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	RENEWABLE ENERGY SOURCES (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester: 5 PA	ATEL JAYKUMAR RAJUBH	AI		00		00	DO	00		DD							BACKLOG:
U21CH109	24.00 13.00	3.04 5.51	FF	CC	FF	CC	ВС	CC	FF	טט							CREDIT(S)
	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENVIRONME NTAL MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5 Af	NKUSH SHARMA																
U21CH110	24.00 24.00	704 764	BB	BB	BC	CD	CC	AB	BC	CC							
	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE369 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY &	BIOPROCES S ENGINEERI							
Semester : 5 Ki	EERTHIRAJ SINGH MALO		FF	FF	FF	СС	CC	СС	CD	NA							BACKLOG: 20 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00	<u> </u>						
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 PIYUSH SHARMA		CD	СС	DD	CD	ВС	СС	ВС	FF							BACKLOG:
U21CH113	24.00 21.00	4.75 6.07															CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE369 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY & ENVIRONME NT (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 DHODI PRATIK DILIPKUI		FF	ВС	FF	CD	ВС	CD	DD	FF							BACKLOG:
U21CH114			CUDO4 T	GUIDOL B		011225 T	011207.5	1111204 T	OURSE T	CUDD4 T							CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 RAJPUT HARSH KHEMCH	HANDRA	ВС	ВС	CC	СС	CD	AB	AB	ВС							
U21CH115	24.00 24.00	7.17 7.35						Αυ	70								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH367 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO ENGINEERI NG STATISTICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH116	5 SINGH SAURAVKUMAR S		СС	ВВ	CC	cc	ВВ	ВВ	ВС	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2023

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name (Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE369 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- SGPA Credit Credit	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY & ENVIRONME NT (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U21CH117	5 ABHISHEK RAMASHISH YADAV 7 24.00 13.00 2.54	5.79	FF	ВС	DD	CD	СС	NA	DD	FF							BACKLOG: 23 CREDIT(S)
Semester		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- SGPA Credit Credit	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	PLASTIC AND CERAMICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : 5 YADAV HARSH RAVINDRA U21CH118 24.00 24.00 6.08 6.47			ВС	ВС	DD	CD	ВС	BB	ВС	CD							

Total Student Count: 109

Abbrivations: SGPA = Semester Grade Point Average, CGPA = Cumulative Grade Point Average Grade: AA-10 AB-9 BB-8 BC-7 CC-6 CD-5 DD-4 FF-0 II - INCOMPLETE NA - NOT APPEARED XX - UNSATISFATORY ATTENDANCE NP/NF-AUDIT PASS/FAIL The actual mark statement with the Academic / Examination section shall be final & binding to all Date: 29-12-2023